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Full Chapter Revision
Parabola

Plane Geometry
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Directix
Parabola: A Parabola is the -

->Latus
F Rectum

locus of a point which axie vortex.F
moves so that its distance focus

I
from a fixed point is equal

focal
to its distance from a fixed distance
straight line.



y
=4au. Directri Y

x=
0

Focus (9,0) o
(a,2a)
f

Vertex (0,0) x=a

y=0 ⑱
F

axis y = 0 (0,0) (a) X

Directvix x=-a (a, - 2a)

tangent at Vertex x= 0

Latus Rectun x = a

Length of length Reetn= 4a
end Points of latus rectun= (2, I2a)



Equation y= hax yz-4ar x==4ay x=- 4ay.

Axis y =0 y=0 x =0
x = 0

Directrix x =- a x = a y =- a y = a

Vertex (0,0) (0,0) (0,0) (0,0)

Tangent
at vertex

x=0 x =0 y =0 y =0

FOCuS (a,0) (- 9,0) (0,9) (0, - a)

Length of 4a 49 4a 49
~

Lalusrectu

Eg. oflatus x=a
x=- a y =a y=-a

rectum
end points ofL.R. (a, 12a) (-a, I2a) (12a,a)(I2a, -a)



Tangent to the Parabola

yy =2a(x +M) (MYi

Condition of tangency.
y= mx +cy

z
= hav

2 = a

in

Point of Contanst (2,a



line lx+myth=o yzYau

Contion of tangency.
am= = en.

Point of Contact
(, -tan

Equation of Normal at (x,y)
-

- -

y - y = (x -m)
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Condition of Normality
-

=

y=mx + c y= 4au

c=-2am - am3

Root of Normal. (am" - 2am)

chord of Contact criechord of
(x,y) Contact

yy =2a(x + m)
(x,14y)



Polar: - Pathof O
yy =2a(x +x) Of
-

Pole

:-Cani
p(u,,y,)
(Pole (

Conjugate lines.

(x + my +n=0lx + m'y +n=0

Conjugate n' + (n=2amm



Joint equation of tangents from exterior

Point (x,(y)

(yz - 4ax)(y,- - yax) =(yy, - 2a(x +m)-

Eluation of chord of parabola

having mid-point (m, y,

yy, - 2a(x + m) =y, - 4ac

yy, -2an = y-2ax,



Diameter
--.

* 11 to x-axis extremit
· Tangent drawn .... .

to extrinity of

diameter is II to chords

· Tangent drawn at the end points
of 11 chords meet on diameter



Parametric representation of Parabola

y ==4ax

x =a+
-

y =2 at

Lat",2a)

equation of crowd
Joint t, & to

(+ te)y =2x + 2at,tr



Tangent at Point t (at", sct)

y
z4ak

ty = x + at
"

Normal at point it

y =- tx + dat + at
3

The Point of intersection of targets
att, & to (atitz, a (tittil



the chord joining to it, is the

tocal chored of Parabola if

t,tz =
- 1

subtangent and subnormal
p

My

Homea

Vertex Bisetsts the -G
sub tangent subtangent

subnormal



subnormal = 1)2 Latus Return


